	MCKENNA	JU	_ 0 0 2025	HEADQUARTE 235 East Main Suite 105 Northville, Mich	Street	O 248.596.0920 F 248.596.0930 MCKA.COM
Frank Schul	te			17, 2025 ce No: 21849	- 110	
City Admini	strator		IIIVOI	.e NO. 21649	- 110	
City of Gros	se Pointe Woods					
20025 Mac						
Grosse Poin	te Woods, MI 48236					
Project	21849	Grosse Poir	te Woods Building Se	ervices		
Professiona	l Services from May 1, 202!	5 to May 31, 202	5			
	Building Departme	nt Services - 85%	of Revenue			
Contract An		72 022 00				
Numbe Fee Eac	r of Permit Revenue h	72,833.00 .85				
Total Fe		61,908.05				
			otal Fee		ć	61,908.05
		1	otarree		÷	01,508.05
Vehicle	Credit			(500	.00)	
	Total					(\$500.00)
	General Zoning/Ad	ministration				
General Zon	ing/Administration professi	onal services.				
			Hours	Amo	unt	
Associat	e Planner			Amo	unt	
Associat	e Planner		22.25	Amo	unt	
Associat	e Planner Total			Amo	unt	0.00
Associat			22.25			
Associat			22.25	Amo		0.00 61,408.05
Associat	Total Invoices		22.25 1.25			
	Total Invoices Number	Date	22.25 1.25 Balance	Invoice Total	\$	61,408.05
	Total Invoices Number 109	Date 5/23/2025	22.25 1.25 Balance 59,859.22	Invoice Total	\$	61,408.05
Outstanding	Total Invoices Number 109 Total	5/23/2025	22.25 1.25 Balance 59,859.22 \$59,859.22	Invoice Total	\$	61,408.05
Outstanding	Total Invoices Number 109	5/23/2025	22.25 1.25 Balance 59,859.22 \$59,859.22	Invoice Total	\$	

FI 6-23-25





June 20, 2025

Invoice No:

HEADQUARTERS 235 East Main Street Suite 105 Northville, Michigan 48167

22-064 - 42

0 248.596.0920 F 248.596.0930 MCKA.COM

Frank Schulte City Administrator City of Grosse Pointe Woods 20025 Mack Plaza Grosse Pointe Woods, MI 48236

oject ofessional	22-064 Services from May 1, 2	Grosse Pointe W 2025 to May 31, 2025	/oods Plannii	ng Services		
	Professional Ho					
			Hours	Rate	Amount	
Associate	e Planner			nate	,	
			10.75	90.00	967.50	
	Prepared for and atten including 20160 Mack I	ded at May 19, 2025 City Rezoning application.	Council mee	ting		
			3.75	90.00	337.50	
	Prepared for and atten ncluding meeting pack	ded May 27, 2025 Plannii et distribution.	ng Commisio	n meeting		
			1.75	90.00	157.50	
	Responded to resident application.	and City questions about	20160 Mack	rezoning		
	Total					\$1,462.50
	2025 Review Se	rvices				
	20160 Mack Ave	e - Site Plan Review #3				
te Plan Revie	ew - \$800 + \$75/acre x	50%				
						\$437.50
	20710 Mack Ave	e (Daily Jam) Proj. Sign #2				
			Hours	Rate	Amount	
Associate	Planner					
			.25	90.00	22.50	
	Total					\$22.50
	20397 Mack Ave	e. (Valvoline) - SPR #1				
e Plan Revie	w - \$800 + \$75/acre					
						\$875.00

Project	22-064	Grosse Pointe Woods P	lanning Ser	vices	Invoice	42
	19655/19	653 Mack Ave - Lot Split Review	Hours	Rate	Amount	
Associa	ate Planner					
			1.75	90.00	157.50	
	Total					\$157.50
	20229 Ma	ack (Knotted Needle) - Sign #1				
	Diaman di Anglia		Hours	Rate	Amount	
Associa	ate Planner		1.75	90.00	157.50	
			1.00	90.00	90.00	
	Total		1.00	50.00	50100	\$247.50
				Invoic	e Total	\$ <mark>3,202.5</mark> 0
utstandin	g Invoices					
	Number	Date	Balance			

4,002.50

\$4,002.50

THANK YOU. Please remit to above address and indicate project number on voucher.

5/15/2025

41

Total

f 0-24-483111 161-371-818.000

55





June 19, 2025

HEADQUARTERS 235 East Main Street Suite 105 Northville, Michigan 48167

0 248.596.0920 F 248.596.0930 MCKA.COM

Invoice	e Total	\$3,600.00
		\$3,600.00
1	0.00	
	3,600.00	
	106.	
services to inclu	ide:	
A Zoning Ordina	nce Update	
voice No:	25-030 - 1	
voi	ce No:	ce No: 25-030 - 1

THANK YOU. Please remit to above address and indicate project number on voucher.

4024-41311 161-371-811.000

55